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1. Answer (b)
Explanation
Jairam was born on 13 April 2001.
Number of days between 26th January and 13
April =77 days = 11 weeks
Hence Jairam was also born on Sunday.
We know that, Ramdas was born 3 days after
Jairam.

Tl
Hence, Ramdas was born on = Sunday + 3 = 37, IHETY BT o = AR + 3 = IR ﬁgeﬂ
Wednesday
T
2. Ans.d
We may have (3 men and 2 women) or (4 men and 2. 8Wd .
1 woman) or (5 men only). TR TR (3 GV R 2 AR AT (4 T 3R 1
Required number of ways = (7C3 x 6C2) + (7C4 Tfgam a1 @Fad 5 JIW) 81 G &

x 6C1) + (7CS5) AHAWFH TADBT Bt W@ = (7C3 x 6C2) + (7C4 x

6C1) + (7C5)

3x2x1" 2x1

7x6x5 7x6
=525+ [3)(2)(1)(6} + [ZX‘IJ

= (525+210 +21)

[7"6"5x6X5} +(7C3x5Cy) + (°Cy)

_|7x6x5 6x5 7 6 7
—[3X2X1X2x1]+(C3X Ci) + (’C2)

_ 7x6x5 7x6
-525+£3x2x1er + [2x1J
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=756 =(525+210+21)
'| =756.
3. Answer C
Explanation
Given series: Q2D @9KU % 7BYEH3LH I I
5I$8FW6*AF40S EIReH|

AT HIA Q2D @9IKU% 7BYEH3LHS51$8
FW 6 *AF4 0 S 3, U¥ & YR, U 3R A & M
MY B §ed 3T M § 3R D 3R | & =i oft ggd
fu e § srear-sedt

Now, according to the question, positions of U and
A are interchanged and positions of D and I are
also interchanged. Hence, we get:

Q2I@9KA%7BYEH3LHS5DS$S8FW6

*UF40S U, AU HRA 8- Q21 @ 9KA%7BYEH 3
Now, symbols which are preceded by a vowel are LH5D$8FW6*UF40S 34 WR I Ugd 3
@ and %. 1A Ui @ R %

Symbol which is followed by an even number is $. Tdiies for % 918 TH T 3Tl € 98 $ ©1

Hence, 3 such symbols are there which are either
preceded by a vowel or followed by an even
number.

Hence, option (c) is correct

UMY, 3 U Uciies & S a1 ol U R ¥ Ugd € A1
TP T HO & 916 31 39T, fawed () W R
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Answer (a)

Explanation

A train moving at the rate of 36 km/hr (i.e. 36 x
1000/3600 = 10 m/sec) crosses a standing man in 5

3R (@)

RACE IAS

TP ¢ 36 fofi/der (3rifq 36 x 1000/3600 = 10
Hie/Abs) B i F FaAdl g b T Al Bl 5

sec. Jbe H UR A B
So, length of train is equal to the distance covered 3 TTIES! B daTS IAE! gRT 5 Yobe H a9 Bt
by the train in 5 sec. ﬁgﬁ%w gl ‘

Length of train=10 X 5=50 m
Time taken to cover 58 m long second train =
(Length of first train + length of second

IS B AR = 10 x 5 = 50 H 58 Hiex et
TH S P a9 HA H O G = (@eeh o B
A + GOY ¢ B @a1S)/2T B Y = 108/10 =

train)/speed of train 108 33

=108/10=10.8 sec

Answer C 5. Answer C

Explanation Explanation

+M— — +/M— —

x/P— + x/P— +

+/L— + +/L— +

—/N—> X —/N—) X

Given expression is 252 P9N5+32L 92 M 14 — Given expression is 252 P 9N 5+32L 92 M 14 —
10+42 x2 10+42 %2
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According to the question,
252PIN5+32L92M 14-10+42 x2=252~+
9x5-324+92-14x10+42+2
=28x5-32+92-14x10+21=140-32+92
—140+21=81

Hence, option (c) is correct.

According to the question,
252P9N5+32L92M 14-10+42 x2 =252 + | 7%
9x5-32+92-14x10+42+2
=28x5-32+92-14x10+21=140-32+92
—140+21 =281

Hence, option (c) is correct.

L9

W D
Answer (d) gt

Explanation
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| 7.

10.

Answer (a)

Explanation

Option (a) is correct. The first line in the passage
blames humans for predator population decline,
“Human activity can reduce the number of
predators.” Then, throughout the passage, the
author shows how the decline in predator
population adversely affects the food web. Then,
in conclusion, the author highlights the impact of
the decline in predator numbers, —The food web
surrounding the Caroni River was destroyed.” So,
option (a) is the most appropriate answer.Option
(b) is incorrect.

Answer C

Explanation

Option (c) is the correct choice.Assumption (1) is
not valid because the passage only states that
‘indicates the health of its host ecosystem’. From
this we cannot make the assumption that the fate
of the entire river is in question. Assumption (2) is
valid because the passage does mention that ‘the
fate of the Yangtze river dolphin mirrored that of
two economically important fish species in the
Yangtze.’

Answer A

Explanation

Option (a) is valid as the passage states that
‘plastic waste on Mt. Everest, the world’s tallest’
and ‘the Mariana trench, the world’s deepest
point’. Option (b) is not valid as the passage does
not suggest ‘inside them’. Option (c) and (d) are
not valid as they extend beyond the scope of the
passage

Answer C

Explanation

Option (c) is the correct choice. Option (a) is not
valid as the passage states does not indicate this.
Also, this is not the stated reason why the author
holds this view.

Option (b) is not valid as the passage states that
not finding rationality is true, however, more
important is the fact that the author states that the
contrary experiences of man’s irrationality are
more common. This makes option (c) the correct
choice.

Option (d) is not valid as the passage states the
exact opposite: the passage
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7.

10.

3R (@)

RSAT

o o @ T 31 TR @t ugeh ufdd A=
oI Rl &t srarel # fRmge & fag g
e B, “AHa afafd Rt @) dem &Y
FH IR ol g1" R, R Art 8 e @
g P9 Ryl omeErdl ¥ fiRmae @ a9 W
yfdpd uHg sradt g1 R, ey § e
Rl @t e & fRde & gHE R UST
STAAT 8, -PRT et & MU DT W S T
Y fobar gail" $Hfe, fdsbed (U) Wod Sugad
IR 21 ooy @) e 21

S C

RSAT
e @) et faed 81 YR (1) AT 16T B Fife
IR=ye Had g waaT § b emH AEH
RIS 73 & Wy & 3 Hdr 21 399 89
g SIAM T O Wb o U O I garat &
WH B YRUT (2) I § Fife IRwe & I
foran man § & il Ad) SifRpA &1 g gl o
3l e U ¥ He@yul A yefadt &1 ufafars
Bl

ST A

e
fader (@ du B e aiede & ®er T ® B
ST B TSI A6e TRE R WIRCH HarT
3R AT 29, g &1 wed e fig | e
@ A TR § i IR G 3RS $T Y4 ol
3 31 e @) iR @) ag 7 § «9ifF 3
URE & SRR T TR &

IR C

ST
fope &) 8t fowe 81 fowen @ wg =6 §
Fiifr IR & He1 T § [F 78 3T e HRar gl
1y €Y, I8 a1 T HRU T8 ¢ P Iod 39 famr
o) I @1 2| faeey (@) 77 e § i iR
IdIdT & & dhanddr & 7 WieH 9 8, gl
31 Heayul 9w 9% & fb e Pedl § b 79"
P THET S A gy eifie g 81 U
e &) B I Iped T1a1 31 fiped (& =g
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11. Answer D 11. WS
Explanation

Number of married men and women must be
equal. So, 35% of men = 30% of women
Men/Women = 30/35

Let there be 300 men and 350 women in the city.
Hence, there are a total of 650 adults.

Number of married men = 35% of 300 = 105
Number of married women = 30% of 350 = 105

So, number of married adults = 105 + 105 =210

RS

farfea geel ok mfgemstt &t W& IR g
IMfgul @, 35% J¥Y = 30% ARFAN Jeu/Mfeadn =
30/35 ST ¢ fo5 18R A 300 YBW 3R 350 ARKE &
3T, Fd 650 90 &1 faaifed geut &t T =
300 HT 35% = 105 faarigd Afgensit 1 @ = 350
BT 30% = 105 39forg, faaifed aoen! &) ¥/ =
105 + 105 = 210 SHen # faafed oo &1
A= = (210/650) x 100 = 32.3% HfeG, fawed

3
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Percentage of married adults in the population =
IR &l
(210/650) x 100 =32.3% (S %l 8
Hence, option (d) is the correct answer.
prion () 12. W&
12. Answer B caret !
Explanation T S HI0T HA: 7x 3R 8x B
Let the two angles be 7x and 8x respectively. We g4 & ¢ b st & =t wrom 1 Rt 180" BiaT
know that, sum of all three angles in a triangle is gl
180", ZTMAY, 7x + 8x + 105'= 180" TT 15x = 180'= 105’ =
So, 7x + 8x + 105'= 180" 75 x =5
Or 15x = 180" 105' = 75' ST, 37 &1 IV & ol BT 3R = 8x— 7x = x =
Orx=>5' 5
So, Difference between the other two angles = 8x I
~Tx=x=5' S |13, I
AT
13. Answer C AT g = LCM. (32, 28, 49) = 1568 THI =
Explanation 15.68 X
Minimum distance = L.C.M. of (32, 28, 49) =
1568 cm =15.68 m 14 SRS
14. Answer B »5 3 3 Riaml & S -
Explanation =X
Number of 25 paise coins = x X/4+100-x/2=45 x+200- 2x /4=45 200- x =45 x4=

x/4+100-x/2=45 180 x= 200-180 = 20

X+200- 2x /4=45 T UPR, fibey @) &1 81
200- x =45 x4= 180
X=200-180=20 15. SR A
Thus, option (b) is correct. ARAT
B 1 U &1 WTCT B HT HIS € B & TR P had Th
15. Answer A TaH g1 st U & fuar Bt 9871 B B! ARG 31 39
Explanation TR, ot A &7 HefioT %

B’s wife’s brother-in-law is B’s brother as
B’s father-in-law has only one child. B’s brother’s
father’s sister is B’s aunt. Thus, B is A’s nephew

\
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16. Answer B
Explanation
Ratio of efficiency of Rajat and Vinay =3 : 1

16. STR &
TR oA 3R 3717 B} SHRiear o1 U = 3 1
. X9 3R a7 gRT g ¢ 9o 7 Srgumd = 1: 3
U & IR,

(3-1) unit = 16 days

.. Ratio between time taken by Rajat and Vinay =
1:3
According to question,

L 16 g
(3 - 1) unit = 16 days umit= - =0 days

- Time taken by Rajat =8 x 3 =24 days

.16
1 unit = 7 =8 days and time taken by Vinay = 8 days

< Time taken by Rajat =8 x 3 =24 days Let the total work be 24 units.
and time taken by Vinay = 8 days

Let the total work be 24 units.

Here both do the work alternatively.

.. Work done in 2 days = 4 units

Here both do the work alternatively.

RACE IAS A
Rajesh Academy for Civil Examinations tﬂ-!—.

.. Time taken for 24 units of work = 24x% =12 days

.. Work done in 2 days = 4 units

A )
o
o

.. Time taken for 24 units of work = 24xg =12 days 17. SR
! 2ees)

17. Answer B . ﬁﬂﬂﬁﬁﬁ%ﬂ»ﬁ?ow?&ﬁ$ﬁuﬂa%m
Explanation ﬁQW@%ﬁW%IN@TMW@
The opposite face are & ﬁﬂﬂﬁ gl Sﬂﬁﬂ g @y § & L R 0 smaw
L and O are opposite to each other. Taeh! IR el 8 Hebdl | .

P and Q are opposite to each other. R R A WA AUl ST IW A &
forg faR &%

N and M are opposite to each other.

Hence, it is clear that L and O can not be on the
adjacent faces.

Hence, option (b) is correct.

Consider the following pie-chart carefully to
answer the questions that follow:

Medicines Shopping
39.6° 68.4°

Investment
54°

Medicines
39.6°

Shopping
68.4°

3
RACE IAS A
Rajesh Academy for Civil Examinations

INDIRA NAGAR | ALIGANJ | ALAMBAGH, LUCKNOW & KANPUR
WEBSITE : www.raceias.com,
E-mail ID : raceias.2010@gmail.com



18. Answer C
Explanation
Expenditure on investment = 54°

=54 x55=%2970
Expenditure on entertainment = 36°
=36x55=31980

2 2970-1980
Required percentage = ~ger™ % 100
=0.5x100=50%
19. Answer A
Explanation

Time taken to type 5000 words at a

: 5000 .
speed of 60 words/minute = minutes

When the speed of typing is 15% more then the number

of words typed/minute

=60+ 60 of 15%

=60+ 60 x 4>
100

=60+ 9 = 69 Words/minute
Time taken to type 5000 words at a

. 5000 .
speed of 69 words/minute = 69 Minutes

. . . 5000 5000
Required difference between time = —— ———
60 69
5000 (23—20)
20x23x3
5000 x 3 )
= ———— =10.87 min.
20x23x3
20. Answer C
Explanation
The series follows a pattern 1°,2%,3°,4% 5°, ¢, 7°
So the missing number is 5° = 125.
21. Answer B
Explanation Considering the given figure
carefully, we find that

Face IZ' and face D are opposite to each other.
Face |E| and face I:l are opposite to each other.
Face I:l and face I:l are opposite to each other.
In option (b), face I:‘ and face l:l are together

which is not possible.
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18.

19.

20.

21.

IR
ST
Expenditure on investment = 54°
=54 x 55=32970
Expenditure on entertainment = 36°
=36 x55=31980
2970-1980

= 1980
0.5 x 100 = 50%

x100

Required percentage

IR U
AT
Time taken to type 5000 words at a

. 5000 .
speed of 60 words/minute = minutes

When the speed of typing is 15% more then the number

of words typed/minute

=60+ 60 of 15%

=60+60 x 1>
100
=60 + 9 = 69 Words/minute
Time taken to type 5000 words at a

. 5000 .
speed of 69 words/minute = 69 Minutes

. . . 5000 5000
Required difference between time = —— ———
60 69
_ 5000 (23-20)
20x23x3
5000 x 3 )
= ———— =10.87 min.
20x23x3
Answer C
Explanation

The series follows a pattern 1°,2%,3° 4%, 5° 6%, 7°
So the missing number is 5° = 125.

3T B

R
UM R I I R, eI U & &

Face El and face |:| are opposite to each other.
Face El and face I:I are opposite to each other.
Face |:| and face |:| are opposite to each other.
In option (b), face I:l and face I:I are together

which is not possible.
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22.

23.

24.

25.

Answer A

Explanation

Average weight of boys in class = 24 kg

Impact in the total weight of the class while a boy
leaves and a boy comes =—36 +30=-6 kg
Decrease in total weight of class = 6 kg

Decrease in average weight =24 —23.5=0.5

Hence, no. of boys = i =12
0.5

Answer A

Explanation

From the information of statement-2 and 5, it is
clear that B and H will be kept in Box-y and both
‘B’ and ‘H’ are in option (a) only.

Hence, option (a) is correct.

Answer C

Explanation

Inference 1 is correct. The lines —If the political
system is considered as not free, a high overall
level of development cannot be achieved and
maintained, mainly because corruption cannot be
effectively reduced despite the prevailing high-
income levelsl. The different kinds of polity
impact the economy and any nation's development.
So, this inference is correct.

Inference 2 is correct.

According to the passage, —However, to be
effective, these strategies should be associated
with the necessary democratic transformations. If
the political system is considered as not free, a
high overall level of development cannot be
achieved and maintained, mainly because
corruption cannot be effectively reduced despite
the prevailing high-income levels. The examples
of Brunei, Kuwait and the United Arab Emirates
confirm this conclusion.... These lines show
corruption and the free political system are
interrelated, and

Answer A

Explanation

Option (a) is correct. The passage mentions —The
main instruments to increase the level of overall
development of countries is to follow integrated
strategies aiming at reducing corruption and
increasing income, human development, and
government effectiveness levels. However, to be
effective, these strategies should be associated
with the necessary democratic transformationsl.
This shows human development can be improved
with necessary democratic transformations. So,
this implied suggestion is the correct answer.
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22.

23.

24.

25.

JRA
RS
B T TSH] BT AT HR = 24 U1 Th TSP &
WM 3R TP TSH & 3 W T F $d UR |
YT = - 36 + 30 = - 6 [HI H&T & Hd YR T HH!
= 6 fopo 3G UR A Y = 24 - 235 =05
Hence, no. of boys = & _ 12

0.5
IWA
R
FHYF-2 3R 5 B THRI J T8 WY ¢ fb B 3R H
Bl Sa-y T T/ 3R B 3R 'H' &1 €Y fadeq
() H 81 gHfer, fased (@ w31 31

S C

RSAT
sy 1 et 31 ufdt - afe Iorifas Rt &l
W T AT ST 7, A U I THY WR

faepT &Y Ut SR ST TEY @M S el ©, T
P YSFER THE & 9§ e 8 gabdl 8

TafeId I 3 WRI & 1ol HH gl §" | Iofa
% fAft YR srfoqawir &) THIId HRd & 3R
ot 2t 1 1 fopTa | oft: g SFA WE B
=y 2 gl B

IR & SER, "graiies, UHd 8 & fog, 3
it gt =gy

S Abdite uRadl I ST g 31 afe
T ©0 ¥ YFER & HRU 96N &1 16 3 97
TR U 3R &Y T Te1 o Tebell &

Tl I 311 WR| & dTaelg THIdT 677 9 HH el
forar S gedr 81 §7s, $Ad & IaTexUN 3R Igad
3RT RT3 Fpy @t gfY Fvar 7.1 T a1y
YPRIR 3R God ) e &

ST

RSAT
fIpey (@ TS 21 TRwE ¥ IwE ¢ - Y b TR
P G & [T T- A1EH S BT A6 YPER B
T B 3R TG & I I Thigpd UHIA! BT
Ued AT § 3, HFd e S8R WHRI
yyIaiiadt & WRI geife, THdt 8 & fog, 3
U B 3TaRue Aedite URaddl ¥ el
ST 18T | I8 | B ST 8

RIS AlHdiASG URad-! & Y faer § gUR
faar o1 Tea 71 Y, T8 PR gma 3uE) A



26. Answer A

Explanation

e Statement 1 is valid. The passage mentions the
presence of lesser species in the islands as one
moves further into the sea. This is hard to
explain through creationism approach, as the
passage states, “Darwin reasoned that these
patterns were hard to explain in terms of
Creationism — in which case, similar species

RACE IAS
26. SR A
RS
o HYT 1 A B URWC H TP A1 P T H gt
7 o9 yefadl @) IufRIfT T I & 3m
g% T gordig PP & wEd 9 SHDh!
RS BT BicH g, o uR=de & wel T
g, "eifd A 9% fean fos gormarg & Jef & &4
UMY 1 TRSAT AT Bid U1 - fbg A 7,
T ot gR SRTE HiNlg gt a1fey - afes

should exist everywhere — but they made sense TR YTyt gl B SN R ¥ e o
if species crossed water to colonise islands, IR $Iat % 3= qu 7 e % Biocy x ¥
with fewer species surviving to colonise more il B’qﬁ%SZT T ¥ Rm W yoTRal %

distant islands.” Thus, the author assumes that
creationism cannot properly explain the
species patterns. Hence, statement 1 is a valid
assumption.

e Statement 2 is invalid. Contrary to the
statement, the author assumes that recent
events including 1995 event where iguanas
swept offshore by hurricanes washed up
300km away, very much alive, after riding on
debris, further strengthens Darwin's reasoning
as the passage states, “He was right. Studies
have found tortoises can survive weeks afloat
without food or water — they probably bobbed

SIfad Y61 & Y| 39 TR, dEH 39 Jordlg
B THET § Uoifadl & Ued 3t b ¥ Fre
Tt HR THd | TIAT, FU 1 TH dY YR B
FHYF 2 3T 81 §UH & faudid, dEH AT §
f& 1995 Afed BTa B YA g1 S8l YA
HARt B & 916 300 fbH g B ¥ SUac
g T, 95 Shfdadad W, S & % B 3R
Aol BT & o1 b aR=e Hgdl 8, "8 TEt
1| ST § UdT Il § HPUY HIoH a1 Ut &
fo gt e Sifad 8 Tahd § - d A THRMA
IH IIY-UIY Iad I TAORIN | AR 1995 H,
T TH ¥ 3fUdcig §8 7 300 fhet v
along until hitting the Galapagos. And in 1995, 8 T, 9gd e ATY W HAR gH & 161 39
iguanas swept offshore by hurricanes washed UBR, HYF 2 A &1 3, fbey @ F@
up 300km away, very much alive, after riding IR e

3
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on debris.” Thus, statement 2 is invalid.
Hence, option (a) is the correct answer. 27. SR C
gt
27. Answer C - e @ T 7| fawed @ & FuF 3id F WA
Explanation it & faodta § anf & affa Seifvan oftese &
e Option (a) is incorrect. The statement in option SR, "c eI, {9y w9 ¥ @1 § o
(a) stands in contrast with the health benefits 3R uforen ¥ ST gl g1 a Ilﬂ'&ff F Iq TH
of gut bacteria described in the passage. RER AR e T axa €1 g8 ot /e e
According to the passage, “The gut SR Bt IuFRUT & HRUT ot +f e gH=m
microbiome, in particular, has been linked to W%ﬁﬁqﬁ[m%l
nutrition and immunity.” They share a 0 fawea @) Tod 81 UR=e Temiics carsi &
mutually dependent bond with human beings. w S ITINT & IR ¥ foepa off a1 78 I SHUDR,
Also, the passage does not discuss any health g faed (@ & URI R TR AW
issues because of the presence of gut bacteria. ‘ £ fasey @ T 21 3 ufeaar ». 7T A ierd, ol
e Option (b) is incorrect. The passage does not | g i TG Y, GH07 3R F ISt g3 ¢ I Uiy Wl | 39
talk about the use of antibiotics at all. Thus, 5 ﬁsﬁl{uf g9 H IECE ﬁ Al & forw Gae=fierdr &
option (b) is beyond the scope of passage. H v g2 Y gEfa e
e Option (c) is correct. The lines “...The gut & =Y " =y
microbiome, in particular, has been linked to ” o 3d $ﬁ§i§ﬁ_§ﬁ§ \22% Gfm ;‘gm
nutrition and immunity. Disturbances in this § ST 2|
friendly force have been related to an ‘ P
increased susceptibility for several health H
disorders....” highlights the extreme necessity = )
4

of gut bacteria for our good health and
immunity.

¢ ’Q’:
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28. Answer B

Explanation

Givencode A=8,B=9,C=10, ....

We just need to get the alphabet associated with
the code 28, 23, 26, 10.

From the given code it is clear that a letter is coded
by adding 7 to its place value.
So,28=28-7=21,ie. U

Similarly, 23 =P ;26=S;10=C

So, the required code = UPSC

Hence, option (b) is the correct answer

29.
30.
31.
32.

33.

Box C is 3rd from the bottom.

Answer C
Explanation
4 boxes are placed above box A

Answer D
Explanation
Box F is placed between box B and box D

Answer C

Explanation

** In (2 x 8§) min — Climbs (2 x 8) m
Means, monkey climbs 16 m in 16 min.
Here, it is clear that after 16th minutes (In 17th
minute) monkey will climb 5m more.

=16+5=21m
Hence, in 17 minutes monkey will climb 21m long
pole.

Hence, option (c) is correct.

Option (d) is incorrect. The author mentions in
the concluding lines, “While the specific
composition of the microbiome varies from
person to person and changes over life,
associations of different microbiome profiles
are now being associated with health or
disease across populations.” highlight the
differences in microbiome composition in
different people.

In 17 minutes money climbs
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Explanation

Box H is placed at the t )
ox H is placed at the top Q
Answer B

Explanation
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34.

35.

As,

36.

Answer A 34. 3R A
Explanation TS
As, 3x2=3x5)(2x5=1510 As, 3x2=(3x5)(2x5)=1510
-
4x7 =(4x5) (I x5)=2035 4x7 =(4x5)(1x5)=2035
5x4 =(5x5)(4x5)=2520 5x4 =(5x5)(4x5)=2520
Similarly, Similarly,
9 x3 =(9x5)(3x5)=4515 9% 3 =@x3) (3% 35)=45]3
Answer B E 35. 3B
Explanation ‘ E ARA
R E A D mi| @
2 R E A D
0
+1| +2 +3 4 H 8
u 2 +1| +2[ +3] +4
S G D H §
. g S G D H
Similarly, ‘ ;
W R I i E = ;:, Similarly,
- W R [ T E
+1|  +2| 3| +4| +5 |
- +1| 42| 3| H4| +5
X T L X J
36. 3R C
-
AT
Answer C DA BME = 130
Explanation il BT Y T = (62 + 52) - 24 = 114 -24 =
Total students =130 90
Number of failed students = (62 + 52) — 24 = 114 (24 Y SIgXd ¥ §99 & oW yern T B wifs ug
—24=90 62 3R 52 I # A B)
(24 is subtracted to avoid repetition as it is v Il Bl Y G- = 130 — 90 = 40
included in both 62 and 52) w 3
Number of students who passed = 130 — 90 = 40. ‘ E Englist Maths
]
Englis! Maths | E
W 6
g
62 52 a £
(includes the 24 (includes the 24) §
g
£
= ]
5
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37. Answer D 37. 3R D
Explanation TS
Correct option is C) T RFacy
Number of triangles are - e &
g1
1,2,3,4,5,(163),(164),(563),(264) will be the 10 ol 8
triangle 1,2,3,4,5,(163),(164),(563),(264) 10 JPHI0 EPITIT
Hence, there are 10 triangles. 8(d: 10 ﬁﬂjﬁ[ %I
38. Answer C 38. 3R C
Explanation " RS
Let the unit digit and tenth digit of the initial w § M URRS G- P Shls 3ib 3R 4] 3id
number be x and y respectively § FAL: x IRy §
. Number = 10y + x ‘ 5 - G—AT = 10y + x
Reversing the digits of initial numbers, y become -g IRfAE TS F 3Hl B IAcH W y THE Bl
unit digit and x become tenth digit. H o 3ich & 1A © 3R x Gai 3 & Il g
2. Number = 10x +y ui LS = 10x +y
£ L~ . .
The difference between number and number 3 ’ 3T P e B T F SR H & W7 BT
o g SfmR18®
formed by reversing digits is 18 < 10v + 10x+v) = 18
10y +x—(10x+y) =18 § y +x - (10x y)—_
7 = 10y + x—-10x-y =18
=>10y+x-10x-y=18 B =9y -9x =18
= 9y—9x =18 f| 3aﬁa‘-qa¥r:2
3P x 3R y & forg, I @y P
2y-x=2 O<Qﬂ¥[<9\3‘?r\’1<a'l’§<9
for digit x and y, it is obvious that guferg, fgfafad gwifaa gm &
0<x<9and1<y<9 (13, 31), (20), (24, 42), (35, 53), (46, 64), (57, 75), (68,
Therefore, following possible pairs are 86), (79, 97)
(13, 31), (20), (24, 42), (35, 53), (46, 64), (57, 75), S GH HB-IT = 15
(68, 86), (79, 97) ggferg, ey () T2 81
Total possible numbers = 15
Hence, option (c) is correct. 39, IWD
re]
39. Answer D " 5
Explanation Rumuuy & o3 4 96 8 & 7o wa fie T8 €'

gOfe w1 A T 3 wd T8 8 3R U 2
IR 3 R B Pt ey 78 R o 2

In the given question, statement 4 is correct stating
‘Some fruits are not sweet’. Therefore statement 1

is definitely not correct and cannot draw any ? b @) wAEI

definite conclusion on statement 2 and 3. Hence,

option (d) is correct. 40. SR B
qreAT|

40. Answer B Each side of cube = o 4
Explanation . 5
20 Number of cubes having 2 painted face = 12 (n — 2)
Each side of cube = 3 =4 —12(4-2)=24

Number of cubes having 2 painted face = 12 (n —2)

=12(4-2)=24 Q;
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41. Answer A
Explanation
In the given series on filling the character which is
given in option (a) then that series will become
like this ab/ba/ab/ba/ab/ba. So , we can say that
now the series is in complete form. Hence, option
(a) is correct.

42. Answer A
Explanation
Picture Square
Circle Circle

Based on the two statements given, it can be
concluded that the some images are circles. Hence,
option (a) is correct.

43. Answer C
Explanation
Total time to starts from 12 O’clock to 5: 10 =5
hours 10 minutes

We know that in order to complete one revolution |

in the hands of clock, i.e., it takes 12 hours to total
360° angles.

12
-+ Angle made by hands of clock in 5 hours

=5x30°=150°

-- In 1 hour, i.e., in 60 minutes rotation of hands of clock

is 30°.
_ _ _ 30° (1
- Rotation of hands of clock in One minute = ;5 ~| 5

.. Rotation of hands of clock in 10 minutes

. mx(l]:so
2

Hence, total rotation of hand of hour from 12
o’clock to 5:10 = 150° + 5° = 155°
Hence, option (c) is correct.

44. Answer B
Explanation
Asfor11,(5x1)+(6x1)=11
and for 30, (6 x4) + (3 x2)=30
Similarly, for (?) 3 x5)+ (4 x3)=15+12=27
Hence, option (b) is correct.

3
Rajesh Academy for Civil Examinations

L9

o IRRAGCGCE IASI &ﬂ A '
&‘ﬂ‘? Rajesh Academy for Civil Examinations

41.

42.

43.

4.

RACE IAS
JIWA
RS
& 7S simer B auf 4 R S fdeed (o) § fearmn g
T 98 4Rael 39 UBR ab/ba/ab/ba/ab/ba Bl S|
@, &9 H8 UPd ¢ [ 3T @ gol =9 H gl
Soferg, fased () 9@t &

SR A
R |
Square

Picture )/—\_/ _—
Circle j Circle

fou U ) YA F YR R, a8 ey T o
Tl 2 & oo foF g 81 sy, faeed @ 9t R

JIWC
EIReH|
12 99 ¥ L& BIdR 510 dP $d 99T = 5 & 10
fore

B 9 © & o<t 31 g4l § U Jad) T HRA 4,

I $d 360° HIUTFH T 12 6 T B
_360° .0
12

- Angle made by hands of clock in 5 hours
=5 x30°=150°

.- In 1 hour, i.e., in 60 minutes rotation of hands of clock
is 30°.

30° 1
- Rotation of hands of clock in One minute = ;"= [5)

.. Rotation of hands of clock in 10 minutes

= 10{%]:50
TR, 12 §91 ¥ 5:10 91 O °S DI B HT HA GO
= 150° + 5° = 155°

U, faed @ @l g

JIWB

RSAT

1MFBRAC 5% 1) +6x1) =11

AR30B AT (6x4)+ (3x2) =30

THUPR, 7)) 3x5) + 4 x3)=15+12=27F
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45.

46.

47.
48.

49.

50.

Answer D

Explanation

Let the two numbers be 5x and 9x.

HCF of 5x and 9x = x

So,x =14

Sum of the two numbers = 5x + 9x = 14x = 14 x
14=196

Hence, option (d) is correct

Answer D

Explanation

Each of the letters in English alphabet series is
assigned an odd numerical value beginning with A
=1,B=3and so on.

So, INDIAN=17+27+7+17+1+27=96
Hence, option (d) is correct.

Answer D
Explanation
Hence, the 3rd floor is vacant.

Answer D
Explanation
Hence, Pritham is living just above Pavan.

Answer B

Explanation

Hence, three people live between Pramod and
Prashanth.

Answer B

Explanation

Maximum percentage of Indians who watch at
least one channel = 26% + 32% + 18% = 76%

So, minimum percentage of Indians who do not
watch any channel = 100 — 76 = 24%

Now, minimum percentage of Indians who watch
at least one channel = 32%

So, maximum percentage of Indians who do not
watch any channel = 100% - 32% = 68%

Hence, between 24% to 68% of Indians do not
watch any channel.

Hence, option (b) is correct.
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JIWD

RS

wﬁwﬁwaﬁwﬁl

5x 3R 9x BT HCF = x

e, x = 14

T GBSl BT AN = 5¢ + Ox = 14x = 14 x 14 =
196

TuRY, ey (& wel g

3 D

RSAT
U U Y/ F UAF 3R HI UH fquH
TS I feam I8 S A = 1, B = 3 3R gt
RE A LE A 5l

TG, YR = 17 + 27 + 7+ 17+ 1+ 27 =96
g, fowe () 981 3

3 D

Eaicea|
gafere, A A @reht B1

3 D

RS
ggferg, HidH, Tad & 31 W I8 W 8

3B

TR
3fa: UHYE 3R Ui & o9 i safdd ved §

JIWB

R

P Y F T I9d 3@ I YRARN F7 3ifisam
TR = 26% + 32% + 18% = 76%

THferg, ®1% ff 9 7 T AT YRt BT gATH
TfI=Id = 100 - 76 = 24%

3(d, F Y HH TH o 4@ a1 YRR BT FAdq
Tfa=Id = 32%

i, e ff 99 A /A I HRAET @B
S dH Ufd=Id = 100% - 32% = 68%

ORI, 24% V 68% HRAT B +f I T8l TTd B
g, fade @) w3l 3



51.

52.

53.

54.

Answer d

Explanation

From S1:

49+2=51>50but49 x2 =98 <100

Again, 48 +3 =51 >50but 48 x 3 =144 > 100
Thus, S1 alone is not sufficient.

From S2:

Since each number is greater than 10, least
possible numbers are 11 and 11 and their product
=121>100

So, the product of any two such numbers will be
greater than 100.

Hence, S2 alone is sufficient to answer the
question.

Hence, option (d) is correct.

Answer D

Explanation

Let E be the event of drawing a card which is not
black.

So, number of favourable outcomes =3 +2 =15
P(E) Number of favourable outcomes/Total
number of outcomes = 5/9

Hence, option (d) is correct.

Answer D

Explanation

Given time is 7:20 AM. At this time the minute
hand is at 4 and hour hand a little ahead of 7.
Angle between 4 and 7 in a clock =30 x 3 =90 °
Angle by which the hour hand must have moved
ahead of 7 in 20 minutes = 0.5° x 20 = 10° (as an
hour hand moves by 0.5° in one minute)

Therefore, angle between both hands =90° + 10° =
100°

Answer B

Explanation

Statement 1 1is incorrect as the “scattered
locations” of historical monuments throughout the
country is not mentioned in the passage as one of
reasons for the ruin of historical monuments. In
fact, their number and scattered locations is a
reason for India being famous throughout the
world for its monuments.

Statement 2 is correct. The unchecked ruining of
the historical monuments like vandalizing of
monuments by visitors (individuals) and
indifferent attitude of Archaeological Survey of
India (institution) are clearly mentioned by the
author. Therefore, it would be correct to say that
both individuals and institutions are responsible
for the dilapidated state of historical monuments

51, IWD
RS
1
~ 49 + 2 = 51 > 50 AfHT 49 x 2 = 98 <100
QISR 48 + 3 = 51 > 50 AfbT48 x 3 = 144 > 100
Y UPR, 3bdl 51 7 el B
23
IfF g T/ 10 ¥ 3P §, e HH THa
T 11 3R 11 § 3R IHT OHGE = 121 > 100
mg gﬁﬁ%‘faﬁwﬁwwmo@r&m
S |
‘E TTMAY, 315 S2 T BT IR S & forg gl g
(| se e @) @@ @
B
HS 52. IWD
S HATRHAT
Qi it fr € v e oo e 9 e &
§| wnEie
‘j UMY, SGa URUMH ST EBM =3 +2=5
=§ P(E) = 3IPHd URUMEI St TR Bt Fa
e| FBm=5/9

gaferg, fawed () we 31

L9

53. 3R D

qret

4R 3R ° BT gS 7 Y dieT 3 R

x 20 = 10° (Uh °¢ P T H)
B U e H 0.5° 3 g1 @)
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T T T e 7:20 I §1 39 99 e 3 g8

TH IS T 4 3R 7P S BT HT = 30 x 3 = 90°
20 e & €< o1 g 7 F 3 I a1l HIv = 0.5°

ST, I 8T} & &= BT B0 = 90° + 10° = 100°

FYF 1 T § TP R & H AeTRIS TR &
R 5T =M e WIR®! &t Saidl 3 HRUT
73t & ¥U H Ifcrfad el &1 aaa &, It
T 3R foaR §U RIM HRA & 307 VR & forg

FYT 2 TE | Ige! (@A) R e
TR BT ST Fatel iR HReTT QRITQE FA&0r
@R F ISR 9T BT AWH GRT WF FT 4
Jwrg a1 T g1 S, I8 PE ol Nl b
Ufeiie WRe! @t Sivl-fivf fRufa & e afs



S5.

56.

Answer D

Explanation

Statement 1 is incorrect. The passage mentions,
“Most stakeholder including the government has
sought the courts’ intervention at some point or the
other and not always to correct a perceived
wrong.” Here the passage implies that all the
stakeholders move the court to settle their disputes.
But the passage nowhere mentions that all the
telecom companies are facing litigation at a given
point in time. It would be an exaggeration to
generalise it to every telecom company. So, this is
an incorrect statement.

Statement 2 is incorrect. The passage mentions,
“The stakes are huge, running into billions of
dollars.” Here the passage implies the telecom
sector is worth billions of dollars, but does not
mention profit. Here this amount is indicating the
value of this business - we cannot assume the
profits arising from it. Also, the author sounds
very pessimistic about the telecom business in
India. It is evident from the usage of ,,not for the
faint-hearted in the very first line of the passage.
It won't be logical to make inferences about the
profit aspects of telecom business in India.

Answer D

Explanation

Statement 1 is incorrect. Though the author gives a
description of whale sighting in calm ocean, it
does not mean that whales are seen only in calm
seas.

Statement 2 is incorrect. The author states that a
whaleman is "thoroughly dependent at all times for
life, safety, and success, upon the arm of God."
This does not mean that he survives by luck alone
and not through his own efforts. The author has
used terms like "exciting chase”, " battle with the
great whale”, "trying out, to engage all his
energies" to highlight the efforts made by the
whaleman to earn his living, and save himself.
Therefore, it would be incorrect to say that a
whaleman survives only by luck or chance.
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R

FYF 1 7Td 71 IR W I T, "WRBR Tfed
TR figdeyR®! A foreht 1 forddt fig R sraradl &
THAY BT AT P g AR FH HRAT Ted Bl el
A & fau & agl uRwde &1 o 8 fr wmft
fRauR® oo f3aret &1 fFuem ¥ i srerad &
TG B ¢ | Al k=g § ol 1 78 Jeor e &
& Wit IR sufal @ @ Ffd s w
qhchaol ST HAT BT US 6T 81 & ldid
U & fore 38 IR ST sifawifad gt S
g U TTdd By g

HYT 2 TAd 31 AN PT I ©, "SI §gd 59T B,
3Rl TR H 9d T g1" Tgt Ant &1 3 § &
IR &F 3R SR P &, AMfb 3BT I e
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T - B9 3T B I10 1Y P HeuHT e IR bl
g O g due URd H RUTUR au™ & IR |
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WM &1 99 Bl 8, Afe 39hT Adas I8 T8l &
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FUF 2 TTAd 81 RGP el § (o b @At "Siia,
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UST R R B 1" 39T Ao I8 T § & a8 et
U Y Siifad TgaT1 8 3R 309 T ¥ el | ke A
e BT, "HeH /A > I dSR", "B
B, T it Foifait B iR B S Weal
P WG fbar 3, dife [AHT §RT 3UAT g
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57. Answer C
Explanation
Statement 1 is correct. The passage mentions that
existing mangrove forests should be maintained by
enabling local communities to use them
sustainably. This assumes that the mangroves
provide many essential ecosystem services to
human communities living in and near them. Also,
the passage mentions,
“protection offered by mangroves against coastal
disasters”, “reduction of coastal flooding by
mangrove belts can minimize saltwater intrusion to
freshwater and potentially maintain freshwater
resources for drinking and/or agriculture.”, which
provide a concrete indication towards the
ecological services provided by mangroves.
Statement 2 is correct. The passage mentions that
mangrove belts should be hundreds or thousands
of meters wide as they help to reduce the impact of
winds and high waves during storms and tsunamis.
One of the reasons behind this reduction in impact
is the role that mangrove roots play in reducing the
speed of gushing water. Therefore, this is also a
valid assumption.

58. Answer B
Explanation
Option (a) is incorrect. The passage does not |¢
mention anything related to climate change or
carbon capture. The focus is primarily on the
numerous benefits of mangrove forests, and the
need to conserve them. Therefore, the statement in
this option is beyond the scope of the passage.
Option (b) is correct. The passage mentions that
the mangrove belts reduce the impact of winds and
high waves during storms and tsunamis and reduce
coastal flooding. The mangrove belts also
minimize saltwater intrusion to freshwater
resources and potentially maintain freshwater
resources for drinking and agriculture. Thus,
integrating mangroves in disaster risk reduction
strategies and coastal management planning can
help reduce the risk of coastal disasters.
Option (c) is incorrect. In addition to forest width,
the passage mentions other key parameters as well
that determine the magnitude and effectiveness of
the protection offered by mangroves against
coastal disasters - like tree density, age, tree
diameter, tree height and species composition. It
does not rank any of these parameters as the most
important factor. Therefore, this answer option is
incorrect.
Option (d) is incorrect. The passage does not touch
upon the factors of precipitation. The focus is
majorly on the advantages of mangrove forests and
the need to conserve them. Hence, this answer
option is beyond the scope of the passage.
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57. 3R C
RSAT
YT 1 98 81 TRwe # I fvar mr @ &
Y TErE! B R ¥ § TR $RA & forg
T&H B Tglel TG a1 1§ @1 ST 91fgu|
g AT 2 6 A 3mm Uy 3R Uy T8
I AFG GHEE! & B MaH UIRfUfad! o
Ja1T Ye™ B &1 9P e, AN BT S0 ¢,
g 3uerst % ¥ BT gRT U &I oM
gt RET”, AT See gRI 9 916 § wHY fiS
Ot # WR U #) gHU8 B HH R gobdl § 3R
TuIfdd =0 & U o/ S & forg S urht &
TOTYT Y 9T 3G bl 71", ST AW gRT UM B
S arelt oifufae Jarsi & fow te 39 T&a
USH PRIl .
HYT 2 el B AN H Ioord foban T § fb HOig See
ISl a1 gRI Hiex A1t B =nfeT :ifs & Qe
3R AT & SR garsft ok Heft TRl & yuTa Hi
&H B H Aeg Bl & | UHE 7 39 S & 0D Th
HRU g ¢ fb AU BT o1 UM B Ot TTid B HH
%mﬁﬁﬂiﬁmﬁuﬁﬁ%l 3fd: g8t T AR YR

[

58. 3T B
RSAT
fawe (U TTed 8| URwde o STaary uRad= a1 dra-
PR I TIfd po Ht I TEI 31 Bied T
FU J FNT g S D3 AHl 3R ISP TR PI
STIHd] IR 21 39T, 39 fdeed H faar man wue
T & SR Y IR 7
e (& Tt g1 AFt A I foan mar § & A
T qOHT SR A & SR garsht ok Seft TRl
P UHTT BI HH DR & 3R I J1¢ B HH A 8
A9 Sec HIS Ut & TareE § WR U 3 gais
B BH PIA © IR U 3R P & forg s ot &
AT B YHIIT TT § TN @A &1 39 UPR,
3fTue S iR oHifeEt ok 9 useH
o & HOG B THIPHd B U i SHuarsft &
SREaH B HH B | A iet Ivaht g
ey @) Tod B1 99 P ASE P 3, RS
3T TG AUEE! &1 o I FHRal § S A
3fTueTaft & Rt HUIg gRT UG &1 o aTelt GRem
% g 3R yvTaRiadr & Fuila wa § - o
&1 U, MY, &1 AT, J&f DI GaTs SR Yuifaal
P! AT g8 30 9 ) off lefier & g
TEaYUl RS & FY A & el H 5| TARM, T8
IR fab ey Tad B
fawea &) ad 81 9rf aof & FRS! B 6 gar g
T U q AUG af & Al 3R SAb TREUT Hi
TagHdl W & Hiad fbar T 81 39, I8
IR fapea 2ART & SRR A W
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59.

60.

61.

62.

Answer C

Explanation

On dividing 6709 by 9, we get remainder = 4
Therefore, required number to be subtracted = 4

Answer D

Explanation

The given series is: a_cacbc baca b

The series consists of three sets. The first three
letters of each set move in a cyclic order, and the
last two letters of each set are the same as the first
and third letters of that set. The series is
abcac/bcaba/cabeb.

Answer B
Explanation

17

17+12=29
29+24=53

53 +48 =101

101 +96 =197 #189
197 + 192 =389

.. Wrong number is 189.

Answer D

Explanation

For the minimum number of rooms required, we
have to maximize the number of participants in
each room.

Maximum possible number of participants in each
room = HCF (36, 60, 72) =12

So, Minimum number of rooms required = 36/12 +
60/12+72/12=3+5+6=14

 IRAGCE LAS A
Rajesh Academy for Civil Examinations m

&)

3 0\
@ RBRACE IAS A
W # Rajesh Academy for Civil Examinations

INDIRA NAGAR | ALIGANJ | ALAMBAGH, LUCKNOW & KANPUR

WEBSITE : www.raceias.com,
E-mail ID : raceias.2010@gmail.com

59.

60.

61.

62.

IWC
RSAT

6709 BT 9 T YT T TR VB = 4 U Bl &
3G, geTg S aTe SMTa<asd T = 4

3T D

reT

TP €Y 718 4RIET §: a_cacbe_baca_ _b

sfgen # I ¥ 81 &1 YD U F Ugd I SfER
THIT HH T T 7, 3R AP Je P 3ifaw I 3ieR
I A2 P Ugel IR TR 31&R S GHH B &1 Yl
abcac/bcaba/cabcb §

S B
AT

17

17 +12 =29
29 +24 =53
53 + 48 = 101

101 + 96 = 197 #189
197 + 192 = 389
. TId G 189

JIWD

IRCH |

HTWH HIRI B YIad ¥ & e, g I
FIR T wfaufi &1 Sem & siftrsad AT g
Td% S B ufauifigl & siftiean dug ¥ =
TS (36, 60, 72) = 12

3G, AP HIRI DT FAdH T = 36/12 +
60/12 +72/12=3+5+6= 14




63. Answer A
Explanation
Let the total number of students doing MBBS be
n(A), those doing Yoga be n(B) and those doing
Gym be n(C).
All the even numbered students are doing MBBS.
~.n(A) = 120/2 =60
All the students whose numbers are divisible by 3
are doing Yoga.
~.n(B)=120/3 =40
All the students whose numbers are divisible by 5
are doing Gym.
~.n(C)=120/5=24
The 6th, 12th, 18th...... numbered students would
be doing both MBBS and Yoga.

- n(ANB) = 120/6 = 20

RACE IAS
63. TR A
RSAT
a1 ¢ fob THElEITy A ad BE B po G
n(A), TNT & aTa! BT TBAT n(B) 3R o A aral
B F= n(0) B
Tft I e e o THeEITy IR 3@ B
~TA@) = 120/2 = 60
3 gt faemeff ot Wt 3 @ favrsa &, A = 3@
gl
T (&) = 120/3 = 40
it et et T 5 @ faurss g R R W 7
ST = 120/5 = 24
6at, 12 18df.. & AR I B THEIEITT 3R IR
S R X B
~ n(ANB) = 120/6 = 20
104}, 204, 30 ..... 7R 9T B THATY 3R o

3
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The 10th, 20th, 30th, ...... numbered students A H R B

would be doing both MBBS and Gym. . n(ANC) = 120/10 = 12

~.n(ANC) =120/10 =12 15di, 309i, 459}

The 15th, 30th, 45th 'Y M g o T SR R 1 &R 38 B
...... numbered students would be doing both }I -~ n(BNC) = 120/15 = 8

Yoga and Gym. 3R 30t 60t il B R R €|

~n(BNC)=120/15=28

And the 30th, 60th ... students must be doing all
the three.

- n(ANBNC) =120/30 =4

- n(ANBNC) = 120/30 = 4
3fd, n(AUBUC) = n(A) + n(B) + n(C) - n(ANB) -
N(ANC) - n(BNC) + n(A NBNC) = 60 + 40 + 24 - 20
-12-8+4=88

Now, n(AUBUC) = n(A) + n(B) + n(C) — n(ANB) - PB 9 B aTal [Tl ST H@AT = 120 - 88 = 32

~ n(ANC) - n(BNC) + n(ANBNC) = 60 + 40 + 24

-20 64. 3R B
~12-8+4-88 S
.. Number of students doing nothing = 120 — 88 = sfgen FEffed Ted &1 SR &
32 16 x 3-3 =45
45 x 66 = 264
64. Answer B 264 x 9 -9 = 2367
Explanation 2367 x 12 -12 = 28392
The series follows the following pattern: <~ g U 2367 gl
16 x3-3=45
45 x 6 —-6=264

264 x 9 -9 =2367
2367 x 12 —-12 =28392

.. Missing term is 2367.
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65.

66.

67.

68.

69.

Answer B

Explanation

Radius of circular patch =21 m

Area of circular patch = (22/7) x 21 x 21 = 1386
m2

Area of patch used for housing = (1/4) x Area of
circular patch

Area of patch that is uncultivable = (1/3) x Area of
circular patch

Area of land available for cultivation = Area of
circular patch — Area of land used for housing —
Area of land that is uncultivable = (1 — 1/4 - 1/3) x
1386 = (5/12) x 1386 = 577.5 m square

Answer B

Explanation

128 families have at least one car.

So, Number of families with no car = 200 - 128 =
72

45 families have at least 2 cars.

So, Number of families with exactly 1 car = 128 -
45=283

No family has more than 2 cars. So, all those 45
families that have at least 2 cars have exactly 2
cars.

.. Average number of cars with a family in that
locality = [(0 x 72) + (1 x 83) + (2 x 45)]/200 =
0.865

Answer C

Explanation

Let average of 19 innings be X
Total of 19 innings = 19X

Total of 20 innings = 19X + 205

As given, (19X +205)20=X + 7.5
or 19X + 205 =20X + 150

or X =155

Answer a

Explanation

From Statement 1: Raj > Rahul > Mona/Priya
From Statement 3: Raj >Rahul > Mona > Priya
So, Priya is the youngest.

Answer B

Explanation

Ratio of efficiencies=3:4:5

Total days taken to complete the work =20

So, Total work = (3 +4 + 5) x 20 = 240 units
Number of days required by man of highest
efficiency = 240/5 = 48 days
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65.

66.

67.

68.

69.

JIWB
RS

JAHR U9 &) Bear = 21 @

MATHR Ud BT &FHA = (22/7) x 21 x 21 = 1386 T
e

3MaTY & fN IUANT fPT o9 9T 99 &1 Fhd =
(1/4) x MATHR U BT &6

39 U9 &1 &F%d o HY A A& § = (1/3) x
JAHR Ud HT &A%

Wt F fory Iuasy Y BT 8FAwd = qAGR U HT
AAHA - AN & T ITAT St I arelt Yy &1
A - BT ATHA

Yt S Y A TE R = (1 - 1/4 - 1/3) x 1386 =
(5/12) x 1386 = 577.5 @ Hiex

I B
RS

128 YRR} & UH HH ¥ HH Uh HR g

3gfore, {81 HR a1 URaR] St W= = 200 - 128 =
72

45 URGRI & U HH I HH 2 BN

3YfoTY, 31 T PR dTd URAR] &I TWT = 128 - 45
=83

5t 1t aRaR & Uy 2 HR A 1e1 9 21 TR,
37 gft 45 gRaRl & g S U9 $9 9 HH 2
PR g, 1P 2 PR B

- 39 3% H U URAR & 1Y BRI B! 3G =
= [0 x 72) + (1 x 83) + (2 x 45)]/200 = 0.865

IR C

RS

T 19 TIREY T 39T X §

A 19 URT = 19X

P 20 URT = 19X + 205

o fob feAT TN 8, (19X + 205)/20 = X + 7.5
TT19X + 205 = 20X + 150

I IR = 55

3R A

AT

FYT 1 9 I > g > JF/AET
$W3@:W>T@H>W>fﬁm
3rct: firm e BT B 1

3R B

AT

FHTIG R BT U = 3:4: 5

P B R B H T $d fad = 20

TRMY, FA B = (3 + 4 + 5) x 20 = 240 AT
JATH G&dT aTel o GRT SARAD &1 DI T
= 240/5 = 48 fa



70. Answer C

Explanation

Minimum time that Rahul and Ravi will take to
meet again at the starting point will be the LCM of
24 minutes and 36 minutes.

LCM of 24 and 36 = 72 minutes = 1 hour 12
minutes

Hence, they will meet again at the starting point
after 1 hour 12 minutes.

. 3w C

RSAT
ET 3R I ) iR | g fifig R e & @
AT GAdH GHG 24 e @R 36 e &1 aged
AT B

24 3R 36 BT AYTH JHYTH = 72 e = 1 °e1 12
fire

3 § 1 9 12 e & 91 gH: oRf& fdg W
fordn

. Answer B
Explanation . 3B
50 days makes 7 complete weeks and 1 extra day. IRAT
So, the project will be completed one day after sofeq7 ‘{Ufﬂ'l?ﬂ's' 3R 1 3ifafed ie9 ST 21
i, giaoFT T i a1e g g1 St
. Answer B
Explanation IWe

B is the daughter of C, and C is the daughter in
law of P.

Also, A is the uncle of B, i.e. A is the brother of
B's father. Thus, A is the son of P

B,CHI A g 3R C, PHITE B
T ), A, B BT 3Hd 8, THT A, B P T BT WIS B
T A PHIYAR

RACE IAS
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73. Answer A 73. XA
Explanation I T
Yellow house is in between the green and red | © ‘«, e TR & R A TR P A H R, SR g7 W A
houses, and green house is adjacent to the blue W% Fipe 31 3aRE
house. So, the possible combinations are: g o B '
Blue Green Yellow Red i
Or jm a1 diar ard
Red Yellow Green Blue
NSRRI

R lives in yellow house, and P does not live
adjacent to R. So, we get:

Blue(P) Green Yellow(R) Red

Or

Red Yellow(R) Green Blue(P)

Hence, blue is the colour of the house in which P
lives.

Hence, option (a) is correct.

. Answer A

Explanation

Clearly, in the given code, the alphabets are coded
as follows:

P—7; A—4;1—-1; N—>2; T-8

And,E—> 9, X—>3;,Co>5E—>9L—6

From the code of PAINT and EXCEL, we can find
the code of ACCEPT.

R fId R ¥ g1 §, 3R P, R & Fde el g1 §1
TG, B9 UT 3 &

et (dt) &1 die (3MR) <ra

a1

ret dier (31R) &1 Attt (dh

3: g W H P 3T & ITHT I e B
3Ty, faded (@ 9t 31

. 3WA

R

WY ¥ 9, iGu T DS #, 31&Rl &l FErgar sifed
ﬁv_EIT‘TCIT%:

f 7Tt T2 8

IR -3W|-53-59T—6
PAINT 3R EXCEL 3 PIS I §H ACCEPT &I IS Udl

\
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A—>4,C—>5C—o>5E—->9P->7,T—>8 WW%I
Hence, option (a) is correct. G T4 osHossodfio7dos
uB guferg, fased (v W8t 81
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75. Answer B

Explanation

Statement 1 is incorrect. The passage mentions
that it is almost impossible to hold religion away
from public contestation if reform has to be
achieved, as mentioned in the lines, —The
animating impulse of Indian secularism was to
produce peace by trying not to make religion a
matter of public contestation.

And a lot of our compromises were a result of that.
This was an impossible position to hold because
the reforms of the modern state require intervening
in religion...I Thus, the author assumes debate,
discussions and intervention on religion important
for reforms. Thus, statement 1 is incorrect.
Statement 2 is correct. The author explains the
context of Indian secularism through the history of
partition as discussed in the lines, —The lesson in
the wake of Partition was that to avoid violence,
you need to lower the stakes of politics by keeping
religion out of it. The animating impulse of Indian
secularism was to produce peace by trying not to
make religion a matter of public contestation.|
Further, the author discusses that such a stance has
led to compromises being made as stated in the
passage, —And a lot of our compromises were a
result of that. This was an impossible position to
hold because the reforms of the modern state
require intervening in religionl Thus, statement 2
is correct
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75. 3T B

RSAT
FYT 1 7T0d 81 IR=e § I forar T 8 & afe
YR U BT § o 4H BT eI Ry I @R
TG AT 3EHT B, ST b dfkaal § Seaia fban
T 8, "YRAW YHAROET BT Sidd ST e Bl
gdeife faare @1 favg 9 999 B IR e
ifd YT AT A"

3R AR §gd UR T I H1 gk A| I8
YRUT I & oY U Sriva fRufar <t aifes smeyfies
I8 & JURY & forg oo & gxaay o) siraadsar gt
?.." 39 UBR, AW 89 T 8,.JURT & forg ef
W Faf R FWAT Ae@yUl Bl 3T UPHR, HUT 1
Tod B

YT 2 I g1 AGP AU P 3fae & mam
YR yrifROerdT & e 1 Tre BRa § o &
3 ufdaat & el & T8 8, AHNSH & 91 &1 99
I8 ol f ffr @ s & o ol of &) 3o
TMER IGHR ASHIT & &I DI HH B DI oTexd
Bl YR yHfROeT &7 Sidd S uH @
v faarg @1 favg 9 I99 B HIRE RS
ify YT HRAT Y11 3, WP Tl BTl § [P 39
e P W S BRI AT BT S 3BT § ol
IR=yg § w8l T §, - 3R AR §gd IR A
I H1 URUMA | T8 YR 1 & ¢ TH 3RHT
fRufy &t wifer snyfie Isa & Qurt & faw oaf o
BHAY B TR & 39 UBR, HYT 2 T8l §




76. Answer A

Explanation

Option (a) is correct. The passage explains the fact
that controlled TFR does not necessarily imply
lower population growth rates immediately. To
substantiate this point, Kerala‘s case is used by the
author as an example to prove the concept of the
population momentum effect. It is stated in the
line, “the population momentum effect, a result of
more people entering the reproductive age group
of 15-49 years due to the past high-level of
fertility. For instance, the replacement fertility
level was reached in Kerala around 1990, but its
annual population growth rate was 0.7 percent in
2018, nearly 30 years later.”

Option (b) is incorrect. The author is of the
opinion that countries with a past record of high
fertility will have a momentum effect and
continued population growth despite reaching
replacement rate. It is evident from the line,
—This is not so because of the population
momentum effect, a result of more people entering

76. TR A
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e @ TE B1 UR=E 9 T BT RS AT B
fo FafRd dluweR St 781 i S gia &
P T HH IR ¢ | 39 g & y71fE =1 & g,
A S HHEA BT ITAN AGD gRT SEBAT AT
UHTT BT STYRUN B R A & T T Iaerun
¥ w0 # oo T §1 g8 iR F &l T g
"SI Tfd THTE, Ued 9w TR B IRAT &
PR 15-49 T & Yo 31 THE H YA HRA a1
3fYFH AT BT IR 1 ISR F o, IR H
TR T TR 1990 & UM Ug 74T o],
Afeh ST A SHIREAT Jf &R LT 30 WTd
q1¢ 2018 T 0.7 Ufa=Id A

e @) Tod 31 @ @1 @ R I ueA
&rar & fea Reie ard X § UfoRiTos o) d&
UgdA & dIaeg I UHTE 3R FRR sen gfg
gnfhl g Y@ @ Wy §, g8 See T gqe &
PRU T 6l ¢, DA 3= TR Bt IRAT & BRI
15-49 T & TS 31T THE H YA B ardt Sfih
@Il &1 IR g 1" BIlifeh, B9 I8 T8I $8 Thd (b
the reproductive age group of 15-49 years due to STB! M P A G T @R T[f[ fear <
the past high-level of fertility.] However, we el &1 HY ﬁ%ﬁﬁ%ﬂ% Gof A 21 g wh
cannot say that their population cannot be ngﬂﬁﬂ%ﬁﬁ%%ﬂamww HAT WG el

|

e (&) Tod 81 U8 HYF, BiP It 8, Pad
Fifrd SuweR & g a% & ey & foar m uw
e aF o, o AaWH ¥T J HH ST gig
TR P gL TN TS HRal 71 Pad URwde BI Sifaw
Ui 39 a9y o ¥ F&fia R1 s9f, a8 W
fored 39 uR=de &1 yafd &0 ¥ 7 T8 ear g1
fawen (&) Tad g1 R wedT € b, 3w Tan
YU H Y PO Bl B fbal o Tobell § TS JaT 5=
U7 B T < AR & SR 3T Tl Y AT I
gI" 3ufiU, g9 9% 78 $§ Wod & Had gar @
SRS § AT GHTT P GHTT R b &1 1Y &,
AGH HId THT P I1d PR |7 © 7 1 59 GHE B
T R B | ST AT, WA & T§ HUT I T,
g T BT GBI IR 81 81 Fobell 4TI 3 UBR,
e (&) T =T YR § R IR &1 IR
IR TR B
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stabilised in the long term. Also, this passage is in
context of India. Generalizing it for all developing
countries will probably not be correct.

Option (c) is incorrect. This statement, though
correct, is only a supporting argument made in
relation to the main argument of controlled TFR
not necessarily implying lower population growth
rates immediately. Only the last line of the passage
deals with this particular argument. Hence, this
answer option does not adequately sum up this

passage.

Option (d) is incorrect. The passage states that,
—Some of this momentum effect can be mitigated
if young people delay childbearing and space their
children.I So, we cannot say that only young
people can eliminate the momentum effect in
population. Also, the author is merely talking
about mitigation and not elimination of this effect.
Moreover, even if this statement was true, it could
not have been the main summary of the passage.
Thus, option (d) is an extreme assumption and not
the proper gist of the passage.
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77.

78.

Answer.B

Explanation

Statement 1 is incorrect. The author agrees that the
West and Russia should be satisfied with India‘s
stand in the Security Council. However, the
satisfaction arises not because India voted
according to their expectations, but in opposition
to what they expected as mentioned in the passage,
—the West should feel satisfied that India
»abstained because it perhaps expected India to
oppose the West™s draft proposals given New
Delhi“s traditional ties with Russia while Russia
should also feel satisfied at India“s ,,abstention*
because it perhaps expected New Delhi to give in
to western persuasion.] Thus, statement 1 is
incorrect.

Statement 2 is correct. The author assumes that
exercising the for® or against‘ vote leads to proper
clear stand in the international arena as discussed
in the passage, —A ,for" or ,against” vote is
intended to convey a blunt message of ,,support™
or ,,opposition”. It is a black or white choice, and
once exercised, the messaging is clear.l Thus, the
author considers that exercising the choice of _for*
or _against’ by a country, makes it clear whether
they stand in support or in opposition of the issue.
Thus, statement 2 is correct

Answer A

Explanation

Option (a) is correct. The initial lines in the
passage mention the reason behind India‘s stand,
—Evidently, the Indian government has chosen to
,abstain“, based on an assessment of its core
interests. Further, the author believes that India‘s
stand satisfies both the West and Russia as
discussed in the concluding lines of the passage,
—In the Ukraine instance — the West should feel
satisfied that India ,,abstained™ because it perhaps
expected India to oppose the West's draft
proposals given New Delhi's traditional ties with
Russia while Russia should also feel satisfied at
India's ,,abstention™ because it perhaps expected
New Delhi to give in to western persuasion.
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IR B
[e3jnes|

HYT 1 7T 3| TP 39 91 ¥ GeHd & 1 Uiy
IR T B YT URYE H YR & 3 F TGP &1
MR Breiifes, WP gAY TaT g8 i WRd A
JADT UMt & IR AdeH faa, afew S
uRwe ¥ I@d fhdr T T, 39 faudld, "ufam
@ TGP ST =16 fb YRA" Ui g1 it
I TIME HRD ¥ Ul & qOe &1 Ry B B
UM Bt R T & Y T3 faecht & URURS dadf
P! <Ed gU TR AT T Safd 9 $F | URd &
IR § TP BT A1eT i a8 e T3 feeet
W Ul srga-faTg o1 Iudle o Ul 39 USR,
HYT 1 777d 8

DY 2 TE Bl AWd AEaT & b o wm %
Qe die &1 ya SidRRIgiy &= § Ifud Wy 39
FI 3R S1a1 & 9 7 TS # Tl 1 7 §, T BR
1 3 de BIRET &

ST A1 e 1 P Ha W1 ¢ | I§ U a1 a1
Tihe AP 8, 3R Th IR YA & & §1G, Hax
L

AW TE WY RA P IR F I A @S T o
Ry F | 3T UPR, FYT 2 TET §

ST A

RAT
fame (@ €t 21 ulede @t URfie dfdaal YRd &
T@ P 0D F BRU B Joord B 8, "SR B,
URT PR 7 30 g f5ell & SHTher & YR WR"
RS "B T 81 SHP ST, TRID BT THAT ¢ [
YRT BT 3@ UM R =9 <! BT TP BT 8,
ST fo5 uftede @ JEY dfdadt o ==t @ e R,
"Yp1 & IaER H - U H P g AT
YR 3 'Ade' 5! fha1 wife I8 TG URd ¥
Rty B B orem Bt ot uf¥m F AeT vRaTa A
% el & w9 & 9y URUR® Fael B 3@d U
I B U YR & IRIRT R AP TeqH HAl
TfeT HiifP IT ARE % faceh ¥ ufgeh orgTa-
a7 & Iufig @t ot
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e The top and bottom sides of the object
remain unchanged
Hence answer figure 3 is correct.

79. Ans (b) 79. 3 (b)
80. Ans (¢)
“qs0. 3= (0
SIOSNOn Rouee. X ke s Question figure: X Answer figure:
Y 3) v =
. o
In the mirror image, m g S oA
e The right side of the object becomes the £ ' . 3
left side g e qQYJ PIq ST HRT ST HTT & St
. . . * « TG BT T HTT SR YR &+ ST ©
o the left side of the object becomes the right |l Y ik .
) ) g 5 - 3 & S 3R = R srufafda g 8
side H 0
5 3fd: IR MBI 3 T g
b
o
g:
£
= 6
5
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